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GDS TO PM/MTS TELANGANA CIRCLE-2022

In Yugal suraksha, Maximum age of the elder policy holder should not be more than

(A) 40 (B.) 45 (C) 50 (D.) 55

Which of the following statement(s) is/are correct?

Statement I: check slips are designed to fix responsibility for the mis-sending of any article wrongly
included in a labeled bundle.

Statement II: Label bundle is a collection of faced un registered articles of the letter mail securely tied with
a check slip at the top.

(A.) Tonly correct (B.) I only correct

(C.) I& IIare correct (D.) I& IIare incorrect
Form M-26 (a) is used for

(A.) Due Mail List (B.)  Trail card

(C.) 'A'order (D.)  Monthly sorting order

An Ordinary Postage stamp instead of Service Stamp is used on an official postal article, the article will be
recognized as an by the Post office.

(A.) Private Postal Article (B.)  Official Postal Article

(C.) Both(a) & (b) (D.)  None of the above.

......... are issued by Superintendent RMS prescribing changes in sorting list.

(A))  'A'order (B.) 'B'order

(C.) TB order (D.)  None of the above

Rural Post Life Insurance (RPLI) was introduced on

(A) 24.03.1997 (B.)  24.05.1995 (C.)  24.08.1995 (D.) 24.03.1995

Which of the following statement(s) is/are correct regarding 'General rules as to posting"?

Statement-I: Clause 16 of Post Office Guide Part-I deals with Sealing

Statement-II: Clause 18 of Post Office Guide Part-I deals with Posting of Coins etc...

(A.) Tonly correct (B.) 1T only correct

(C.) TI&IIare correct (D.) I& 1IIare incorrect

Which of the following statement is wrong in case of RPLI Policy 10 years RPLI (gramPriya)?

(A.)  Survival Benefit are paid after 4 years 20%, after 7 years 20% and after 10 years 60% with accrued
bonus.

(B.)  Minimum sum assured Rs.10,000/- Maximum Rs.10,00,000/-

(C.) Minimum and Maximum age entry is 25 and 45 years respectively

(D.) Insurant can be life cover to the extent of sum assured for 10 years.

Which of the following statement(s) is/are correct?

Statement-I: Business Parcel Consignment are delivered at the door step

Statement-II: Compulsory Coverage of Insurance is necessary for Business Parcel Consignment.

(A.) Tonly correct (B.) I only correct

(C.) I& IIare correct (D.) I& IIare incorrect
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The rate of penalty that would be imposed on BNPL customer in case he fails to make payment by due date
is

(A)  12% per Annum (B.) 6% per Annum

(C.) 10% per Annum (D.) None of the above

One My stamp should contains ........... number of stamps.

(A) 8 B, 12 (C) 6 (D) 10
Expand FTL with regard to Logistics Post?

(A.)  Final Truck Load (B.)  Full Truck Load

(C.)  Full Truck Logistics (D.)  Full Transportation Load

Toll Free number for IPPB Products and Services?

(A) 155299 (B.) 1552999 (C.) 155399 (D.) 155398

Expand SPARSH with regard to Department of Posts.

(A.)  Scholarship for Promotion of Aptitude & Research in stamps as a Hobby
(B.)  Scholarship for Payment of Aptitude & Renovation in stamps as a Hobby
(C.)  Scholarship for Promotion of Articles Research in stamps as a Hobby
(D.)  Scholarship for Promotion of Aptitude & Rebuild in stamps as a Hobby
Cash on Delivery (COD) facility is available for

(A.)) My Stamp (B.)  Logistic Post

(C.) e-POST (D.)  Business Parcel

For the purpose of administration, the entire country has been divided into ......... Postal circles.
(A) 21 (B.) 22 (C) 23 (D) 24

Which rule of Postal Manual Volume V defines camp correspondence?

(A.) Rule 56 of Postal Manual Volume V

(B.) Rule 56 A of Postal Manual Volume V

(C.) Rule 57 of Postal Manual Volume V

(D.)  None of the above

Arrange correct sequence regarding method of address on the articles to be delivered in urban area as per
clause26 (1) © of Post office Guide Part I

1.) Name of address

ii.) Name of locality or Mohalle

iii.) Profession if any

iv.) Number and/ or name of house and name of street or Road

v.) Post box number if any

vi.) Name of District and State Pin-code

vii.) Name of Post town and Pin code

(A) (1), (ii1), (v), (vi), (ii), (1v) & (vii) B.) (), (ii1). (iv), (i1), (v), (vii) & (vi)
(C) (1), (vi), (11).(v), (vii), (ii1) & (Iv) D.) (), (vi), (vi), (ii1), (i1), (v) & (iv)
In case of articles addressed to foreign countries, the address should be written in

(A.) Roman letters and Arabic figures
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(B.) Roman letters and Persian figures
(C.) Roman letters and Capital figures
(D.) Capital letters and Arabic figures
(20.)  Which clause of Post Office Guide Part-I, deals with manner of affixing postage stamps?
(A.) Clause 22 of Post Office Guide Part I
(B.)  Clause 23 of Post Office Guide Part I
(C.) Clause 24 of Post Office Guide Part I
(D.) Clause 25 of Post Office Guide Part I
(21.)  Which type of articles addressed to the renter of Post Box is not delivered through Post Box
(A.) Articles addressed to legitimate personnel of a firm renting a Post box
(B.) Articles addressed to family member and guest of the renter
(C.) Articles addressed to casual visitors and commercial representatives staying with the renter
(D.) Insufficient paid unregistered articles.
(22.)  Interm of PLI, which of the following statement(s) is/are correct?
Statement-I: Loan is available against the Endowment policy after 3 years.
Statement -II: Loan is not available against Anticipated Endowment policy.
(A.) Tonly correct (B.) I only correct
(C.) I&IIare correct (D.) I& IIare incorrect
(23.)  The public business hours of post office are fixed with respect to
(A.) Local Convenience
(B.)  Arrival and departure timing of the mail
(C.) Botha (a) & (b) above
(D.) None of the above
(24.)  Which of the following statement(s) is/are correct?
Statement-I: A branch of RMS where closed bags received and dispatched is called Transit Mail Office.
Statement -II: Sorting of letter is not done In the Transit Mall Office.

(A.) Tonly correct (B.) I only correct
(C.) I&IIare correct (D.) I& IIare Incorrect

(25.) A Post Office or Sorting office or Section which exchanges malls with offices in foreign countries is known
as

(A.)  Office of Record Office
(B.) Office of Exchange
(C.) Office of Superintendent of Post Office
(D.) None of the above
(26.)  Parcel Directorate is headed by
(A.) Dy. Director General
(B.)  Chief General Manager
(C.)  Secretary Posts
(D.)  Chief Postmaster General, New Delhi
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(27.)  Stamps cannot be sold through which of the following channels

(A.) Postman (B.) Philatelic Bureau
(C.)  Counters (D.) MPKBY Agents
(28.)  Which of the following item is prohibited to be sent via mail in India?
(A.) TB Sputum (B.) Plague Culture
(C.) Anthrax Spore Vaccine (D.)  Gold bullion worth Rs.50000

(29.)  Which of the following statement(s) is/are correct?
Statement-I: Stamps affixed to letter or packet must be completely adherent itself.
Statement -1I: Stamps may be affixed to any part of its contents
Statement-III: Stamps may be affixed to any label or other device tied or attached to the articles.

(A.) I only correct (B.) Tonly correct

(C.) I only correct (D.) L II &I are correct
(30.)  Mail Offices are of the Rail Mail Service?

(A.) Travelling Offices (B.) Stationary Offices

(C.)  Superintendent office (D.)  None of the above
(31, Ethics deals with the correctness of

(A.) Conduct (B.)  Through (C.)  Perception (D.) Intuition
(32)) 'Sati' was abolished in the year

(A) 1828 (B.) 1829 (C.) 1835 (D.) 1838
(33.)  The partition of Bengal during the freedom struggle took place in the year.

(A) 1906 (B.) 1907 (C.) 1905 (D.) 1908
(34.)  The highest peak in India Is

(A.) Mount Everest (B.) MountKanchanjunga

(C.) Mount K2 (D.)  MountDhaula
35.) Thumba Equatorial Rocket Launching Station was established in which place of India?

(A.) Bengaluru (B.)  Sriharikota

(C.) Malkangiri (D.)  Thiruvanathapuram
(36.)  Where was the venue of Bharat Drone Mahotsav 2022?

(A.) New Delhi (B.) Bengaluru

(C.) Ahmedabad (D.)  Chennai
(37.)  Which among the following articles of Constitution of India abolishes the untouchability?

(A.)) Article 15 (B.) Article 16 (C.) Article 17 (D.) Article 18
(38.)  World post day celebrated on

(A.)  5th October (B.)  9th October

(C.)  19th October (D.)  25th October
(39.)  Mallkhamb is the state sports of which state in India?

(A.) Kerala (B.) Meghalaya

(C.) Madya Pradesh (D.)  Sikkim

(40.)  Who among the following attended all the three round table conferences?
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(A.) Mahatma Gandhi (B.) Jawaharlal Nehru
(C.) B.R.Ambedkar (D.) Lala Lajapat Roy
41.) Find the average of series: 312,162,132, 142,122
(A) 162 (B.) 174 (C.) 186 (D.) 198
42.) Simplify the expression by using the BODMAS rule [18-2(5+1)) +3 +7
(A) 8 B) 9 (C) 6/10 D) 7
(43.)  42% of a number is 2457. What is the number?
(A.) 5850 (B.) 5750 (C.) 5825 (D.) 5875
(44.) A man buys a toy for Rs.25/- and sells it for Rs.30/- Find his gain/loss percentage?
(A)  25% (B.) 40% (C)  30% D)  20%
(45.)  The price of 10 Apples is Rs.100/-. Then what is the price for 6 Apples?
(A) 50 (B.) 70 (C) 60 (D.) 40
(46.) If the sum of two numbers is 33 and their difference is 15, then the smaller number is:
(A) 9 (B.) 13 (C) 16 D) 18
(47.) A cando a piece of work in 8 days, which B alone can do in 10 days. In how long both Co-operating each
other can do it?
(A.) 40/9 days (B.) 41/9 days (C.) 42/9 days (D.) 43/9 days
(48.) A person deposits Rs.5000/- in a bank account which pays 6% simple interest per year. Find the value of his
deposit after 4 years.
(A.) Rs.6200/- (B.) Rs.6000/- (C.)  Rs.6400/- (D.) Rs.6600/-
(49.)  Ifthe speed of a train is 20 meter/sec. Find the speed of the train in kmph.
(A.)) 84Kmph (B.)  72Kmph (C.)  68Kmph (D.) 55Kmph
(50.) The average of first 10 even numbers is
(A) 18 (B.) 22 (@ .9 D) 11
GDS TO PM/MTS TELANGANA CIRCLE-2022 KEY
ANSWER
(1) B 2) C 3) B 4. B 5) A
(6. D (7) A 8. C 9. A (10.) A
(11, B (12) B 13, A (14, A (15, D
(16.) C a7, A (18, B (19, A (20.) B
(21.) D (22) C (23.) C (24.) C (25.) B
(26.) B (27.) D (28.) B (29.) B (30.) B
31) A (32) B 33.) C (34, C 35, D
36.) A 37, C (38, B 39, C (40.) C
(41.) B (42, B (43, A (44, D 45.) C
(46.) A 47.) A (48.) A (49.) B (50.) D
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